

			Vendor	Ranking			Page 1 of 1
Letting:	08210112	January 12, 2021 02:30 PM	Call Order	: 003	Contract:	E8S96-R0	
District:	Turnpike			BROWARD, MIAMI-DADE	,		
Contract Time:	365 CALENE	DAR DAYS		PALM BEACH, TURNPIKE	Project(s):	19285417212 (*	*)
Contract Desc:	SLOPE & SH	HOULDER MAINTENANCE - Z	ONE 1				

Percent Of Bid Type Bid Status Rank Vendor **Total Bid** Low Bid 100.00% Intent to AWARD ENVIRONMENTAL LAND DEVELOPMENT Winning bid \$457,740.00 1 Responsive 2 AGRICULTURAL LAND SERVICES, INC. Responsive Non-Winning Bid \$512,850.00 112.04% 3 MERRELL'S GRADE-ALL, INC. Responsive Non-Winning Bid \$636,275.00 139.00% 4 **ROGAR MANAGEMENT & CONSULTING OF** Responsive Non-Winning Bid \$697,161.75 152.31% FLORIDA LLC WEEKLEY ASPHALT PAVING, INC. Responsive Non-Winning Bid \$1,190,475.00 5 260.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JANUARY 26, 2021 AT 4:00 PM



Tabulation of Bids

Page 1 of 5

Letting:	08210112	January 12, 2021	Call Order:	003	Contract:	E8S96-R0
District:	Turnpike		Counties:	BROWARD, MIAMI-	Fed Aid No	: N/A
Contract Time:	365 CALEND	AR DAYS		DADE, PALM BEACH,	Project(s):	19285417212 (*)
				TURNPIKE		

Contract Descr: SLOPE & SHOULDER MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to repair and/or restore roadside slopes and shoulders, including site preparation, grading, borrow excavation material, miscellaneous asphalt pavement, rip rap, finish soil layer preparation, sodding, and watering, at various locations on the Homestead Extension of Florida's Turnpike, Milepost (MP) 0.0 to 46.5, Florida's Turnpike, MP 0.0X to 100.0, and Sawgrass Expressway, MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) AGRICULT SERVICE			S GRADE-ALL, NC.
() indicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (REPAIRING NO	ON-PAVED SHLD	RS (MANUAL) (S	Ϋ́Υ			
0005 0120 2 2 BORROW EXCAVATIO MEASURE	ON, TRUCK	1,750.000 CY	15.00000	26,250.00	20.00000	35,000.00	22.00000	38,500.00
0010 0210 2 LIMEROCK-NEW MAT REWORKING BASE	FERIAL FOR	425.000 CY	25.00000	10,625.00	15.00000	6,375.00	45.00000	19,125.00
0015 0339 1 MISCELLANEOUS AS	PHALT PAVEM	55.000 ENT TN	299.00000	16,445.00	275.00000	15,125.00	600.00000	33,000.00
0020 0530 1 RIPRAP, SAND-CEME	ENT	130.000 CY	499.00000	64,870.00	195.00000	25,350.00	130.00000	16,900.00



Tabulation of Bids

Page 2 of 5

Letting:	08210112 J	lanuary 12, 202	21 Cal	I Order: 003		Contract:	E8S96-R0	
Line No / Item Item Descriptio		Quantity Units	(1) ENVIRONM DEVELO		(2) AGRICULT SERVICE			S GRADE-ALL, IC.
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(REPAIRING NO	ON-PAVED SHLD	RS (MANUAL) (S	Y			
0025 0530 3 4 RIPRAP, RUBBLE		350.000 G TN	92.00000	32,200.00	190.00000	66,500.00	225.00000	78,750.00
0030 E575 1 SODDING		75,000.000 SY	2.79000	209,250.00	2.10000	157,500.00	3.00000	225,000.00
0035 E577 70 SHOULDER REWO	ORK	90,000.000 SY	1.09000	98,100.00	2.30000	207,000.00	2.50000	225,000.00
	G NON-PAVED Se MANUAL) (SY)	ection Totals:		\$457,740.00		\$512,850.00		\$636,275.00
	Contract Gra	and Totals:		\$457,740.00		\$512,850.00		636,275.00



01/25/2021

Tabulation of Bids

Page 3 of 5

Letting:	08210	0112 Ja	anuary 12, 20	21 Cal	l Order: 003		Contract:	E8S96-R0	
Line No / Item Dese		Alternate	Quantity Units	(4) ROGAR MAI CONSULTING	OF FLORIDA	(5) WEEKLE PAVING			
() indicates	s item is bid as	Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 00	01 (F		ON-PAVED SHLD	RS (MANUAL) (S	Y			
0005 012 BORROW EX MEASURE	0 2 2 KCAVATION,	TRUCK	1,750.000 CY	41.61000	72,817.50	49.00000	85,750.00		
0010 021 LIMEROCK-N REWORKING	NEW MATER	IAL FOR	425.000 CY	14.61000	6,209.25	72.00000	30,600.00		
0015 033 MISCELLANI		ALT PAVEME	55.000 ENT TN	461.00000	25,355.00	575.00000	31,625.00		
0020 053 RIPRAP, SAN			130.000 CY	491.00000	63,830.00	800.00000	104,000.00		
0025 053 RIPRAP, RUI	0 3 4 BBLE, F&I, D	ITCH LINING	350.000 TN	361.00000	126,350.00	260.00000	91,000.00		
0030 E57 SODDING	75 1		75,000.000 SY	3.64000	273,000.00	6.50000	487,500.00		
0035 E57 SHOULDER	7 70 REWORK		90,000.000 SY	1.44000	129,600.00	4.00000	360,000.00		
	AIRING NON DRS (MANU/		tion Totals:		\$697,161.75		\$1,190,475.00		



Tabulation of Bids

Page 4 of 5

Letting:	08210112	January 12, 20	21 C a	all Order: 003		Contract:	E8S96-R0	
Line No / Item Item Descripti		Quantity Units		ANAGEMENT & G OF FLORIDA	• •	EY ASPHALT IG, INC.		
() indicates item is bid as Lump Sum		Unit Price LLC Ext Amount		Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$697,161.75		\$1,190,475.00		



			Tabulation of Bids			Page 5 of 5
Letting:	08210112	January 12, 2021	Call Order: 003	Contract:	E8S96-R0	
			to file a protest within the time pre			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.